EARAROBEEIERT — 2 N— IBISH —F

20125 11B58 (B) 9mlllig2H

md BCRTU> b (FRXFAE) Jpn $7R3EEOP ‘[ﬂi}% ‘Béiﬂélasﬁ] — | & (%) 14000 B
[A&4] 1 7 60,000,000 § ~ 2 3% :21,000,000 @ . 3 37 :12,000,000 @ 4 & :6,000,000 @ 5 j& :3,000,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
SN AHEEE : -1-1- — KIEF AN (Fhk)
1 4 244 L2 R 4 5 570 1.(2_6).6 1-1-1-1 38.6 2 (5_168) an:;gi
XL THANAN B:ov—Txy Y J—HrTy—LA
= R :27. —6-6- . — BRERFIZ (Fhak)
2 3 AT LX 4 6 573.0 1(237)2 6-6-6-5 | 38.7 1 (5+175) S
LIA YT BREU—T B &y K
Z—= 46 | JIIERHE 1:27.6 5-5-2-2 [39.3| — 4 473 | SHBGA (hR)
3 6 - 57.0 @) (+4) | EEFE
:Soto B:IFTIL Highclere Inc.
R 1BKI— : —7-8- — AKE R (FR)
4l5]5 | BLENAZ B H o7 s 1(.12/72.)7 7-7-8-7 | 39.1 6 51_729) A%g
:30F KXYIX b BIUESLTH=— ITEILTEI AL
NN . S i— 128. -84 . — KiRABZ (FR)
5011 |F1¥avdzy b S s 1(228)1 8846 |08 ° (ifg) BB
RIUTFAvITAAN BFa—F4Ia— ILIL, YIET7—L
= o o4 | A 1:28.6 4-4-4-4 | 40.3| — 7 503 |fEABS (EH)
EE D e 57.0 2 1/2) (o) | R
L:xrinao— B:T7IIT7ARL RAREHS
: : 4 6 | JISEKRER 1:28.8 11-10-10-9 | 39.0 | — 9 490 | NSETT (fa4H)
71810/ FT*TFU—F 57.0 1 1/2) o |NEmA
RTANKET YY1 BAL—RFARb TR
o6 | AR 1:28. 10-11-11-11{ 38.8 | — 11 491 | ERBEE (115)
88|11 ET7H AT — b 57.0 (7€) 1) (B) 77> N5
L:2v— K= B:vANyE> TX FE—
=5 _ . 4 5 | AOME 1:28.9 2-3-2-2 | 40.7| — 3 510 | MITIZ (5542)
9/7/8|Z773I—F+> 55.0 (74%) (4a) |LHEER 3
RYIRT4 TSR B:dy v dNZ— 752 RS
3 =54 # 7 | BRNEA 1:29.2 3-2-7-8 |40.9| — 10 | 498 |AllISH (tiEE)
10079 |¥¥T=>777— 57.0 (1/2) e | B 2- K ETHE
RTANKET Yy BINhySa 1- NETHS
Ny £ 6 | BHB 1:29.7 9-9-9-9 [40.1| — 8 507 | E:Z@k5— (JI11)
11 7| FavyNAYR 77 570 21/2) o |EEf
L:gVYZYIAY BHRIau~SH EE &
® I —F—@EBIERL
13=7r= 4,8,9,2,6,3,5,1,7,11,10
2= = 4,9,8,2,6,3,5,1,7,10,11
ga=7"= 4,(6,8),(1,2),3,9,5,7,10,11
40—+— |4,(6,8),2,3,1,5,9,(7,10),11
[ N3
BB 4 470M 714K 3-4 150H % E 3-4 280M 3EHE 3-4-6 870M
8 B 4 130H4 4-6 620 B 4-3 840M K31 4-3-6 4,900
3 100M 3-6 280M B E 3-4 260
6 1804 B H 4-3 810

ABICOVWTRDTEEERROODE. TR LIV,




